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SCHOLASTIC APTITUDE TEST
INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.

l.

10.

Answers are to be bubbled only on the separate carbonless Answer sheet provided
to you. After examination detach the carbonless copy from original Answer sheet
& keep carbonless copy with you till the declaration of result.

Please write your Center Code & Seat No. very clearly (only one digit in one
block) on question paper. Before writing your seat no. ascertain it with Hall
ticket. Please see that no block is left blank or unfilled.

Example :

CENTRECODE |1 [ 1] 0] 2

SEAT NO. M3 |3(9f2|2|1T|1T]O|2T1]2]3

Please ensure that you have received Scholastic Aptitude Test answer sheet.
Total number of questions are 90 for this paper. All questions carry one mark each.
All questions are compulsory.

For each question there are four options given in question paper. Check for the
correct answer and bubble correct option from four circles given in answer sheet
by Black/Blue pen. Please do not write any answers on question paper.

Start answering from first question one after another till the last question.

If you do not know the answer of any question, do not spend much time on it and
pass on to the next one. If time permits, you can come back to the questions which
you have left in the first instance and try them again.

Utilize the allotted time for solving the questions in best possible way. The rough
work is to be done in the box given under each page.

Do not write anything except Center Code, Seat No. and rough work anywhere in
this booklet
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001,  FLNSJNLS WHBRRTB BRORRE CIRFE?
(1) =0 (2) wye

(3)  e&ne (4) 3O

002.  104°F vFgomnas ZO0TF 083 3O ecdoddQodd cdrer; SORwERE cdnswy) ?
(1) 40°C 233 273.15°K (2) 36.9°C =3 313.15°K
(3)  40°C =52 313.15°K (4) 36.9°C 33 273.15°K

003.  $9NT 320D DEOIR ARR FTHT HAcR TITHD.

0]
P Q
U
S
T
A

N
(1)  Besd PQ - BoowBr=w FJRN (2) 330 AO - T3S 8T
(3) 83 ON - ©ow (§oap€) (4) 330 OT - TTOREFE 3TD

004. OO TO BROTERTIT ﬁmqﬁrdﬁimd}@%@ :

TOFRROT TIIT, WORRPIT*, IR0
(1) =933 (2) OFPOTF
(3) TOVROT® (4) ORI
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001.

002.

003.

004.

Which of the following is an unit of temperature
(1)  calorie (2) joule

(3) erg (4) kelvin

How much will the temperature of 104°F be in Celcius and Kelvin?
(1) 40°Cand273.15° K (2) 36.9°Cand313.15°K

(3) 40°Cand313.15°K (4) 36.9°Cand 273.15° K

Observe the diagram and choose false pair

O
p Q
U
S
T
A

N
(1)  Seg PQ — Reflective surface (2) Ray AO — Incident ray
(3) Ray ON — Normal (4) Ray OT — Reflective ray
Find odd one out
Polypropylene, Polyester, Polyethylene, Polystyrene
(1)  Polyester (2) Polypropylene
(3)  Polyethylene (4) Polystyrene

Space for Rough Work
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005. P TNT DO WIBey) CINTYTT 300ES EITOOWRATIBT ?
BRNT 2% [0BY FOTHF T FEFFOT HdeeS

BRNT BF00d 308 BT T FEBFOT e

3e0 BRNT BOTEF FEBFOT e

RO WRQVD T3 000D HoeeS

006. =z ©nd PP Sem? B ©T3 308 0.5N 3. TS AR 3o PoId Hed
BOLIREOT t.3BRR) B0R> SBOD.

(1) 10° N/m® (2) 2 x 10° N/m®
(3) 0.2 x 10° N/m? (4) 20 x 10° N/m?
007. S = ATT 3ee3T QDT NI BRTYoD LITTVOBTEY) eevevnvnrrrnnnnnn. 3[R
QTITT.
(1) 20V (2) 2v
(3) L5V (4) 0.2V

008. FISNTRYNTE) CINTTO VIBAID N BOCINT TT?
(1) @20%33 ST0RINT, D@F@—-’%eﬁad, NEIN 20T B0BReL3ITI.
(2) @@Fa’%eﬁadm& @@ra’%eﬁmd, NEIN 20T B03ReL3ITI.
(3) mm—%@mms, eﬂ%wé 5590, erozi D0BRee3B3.
(4)

4 @Ebéwé STOOCRNT, eﬁébéwé €3T90, NEIITE 2TDTT R0BRCLITI.
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00s.

006.

007.

008.

The pressure exerted on solid by an object depends on

(1)  weight and contact area of object.

(2)  mass and contact area of object.

(3)  contact area of object only.

(4)  mass of object only.

The area of the tip of the screw is 5cm? and it’s weight is 0.5 N. Calculate the pressure exerted
by the screw on a wooden plank.

(1) 10°N/m? (2) 2x10°N/m?

(3) 0.2x10°N/m? (4) 20 x10°N/m?

The potential difference between the two electrode in Lead-Acid cell is
(1) 20V 2) 2v

3) 15V (4) 02V

Among the following which is correct statement about solid.

(1)  Indefinite volume, definite shape, negligible compressibility.
(2)  Definite volume, definite shape, negligible compressibility.
(3)  Definite volume, indefinite shape, very high compressibility.

(4)  Indefinite volume, indefinite shape, negligible compressibility.

Space for Rough Work
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009.

010.

0D TITTN BRGTOT SR T QTOF” B3 PYOIRENT 0T [ WRO[NT HOTRT

OB, 3083, TWOSTRF 03000T SO0,

A)  JFE ToD ST0Y [RRTRN BI0L D[RR FRE TRRD BTy TREN DTT
Moe303d FROD TRILOIL FRRD TR BMITY BREMITTL.

B) Q8 BOP) F00F BREOWIN MoLES 98,0309 Te QTR0 83 FRCPTY DTy
noe3odd MOoROIR) LETRN WTT I FoLTE, 0D TRTT FELRITT0.

C)  ROD AOFEMN BRGFTOT R TE BT,

D)  QEFE BOP WHBIR), BROODTITT 5o030F RRWIERT (IRoN) Q0T ZSooDTE,
QTT MoEdodd FROTN @08 3eeamon FePROZD.

(1) B,C,D,A (2) C,D,A,B
(3) D,C,A,B (4) B,A,D,C

5930 BREFT C00T,TI FOOF OIIRYTT W06 STOZTONT?
(1) Qe Boows (2) opE
(3)  ows (4) oo
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009. Make correct sequence of observations / conclusion given below in the options related to

2136921289

experiment of ‘sound is necessary for propagation of sound.’

(A) Ifthe vacuum pump is switched on, with decrease in air level, the level of ringing sound

heard decreases.

(B)  When vacuum pump is OFF, the bell jar contains air and key of electric bell is switched

S O S OIS O S S

on then ringing sound can be heard outside the bell jar.

LAV

(C)  To generate sound, medium is needed.

s S S S S S S S S S o R
R AR A AN AR A AN AR A R
PPN %P 0092, 690, 92,0

(D) If the vacuum pump is operated for sufficiently long period, the quantity of air like

inside the bell jar will be low. At this point the level of ringing sound also be very low.

(1) B,CD,A 2) C,D,AB
3) D,CAB (4) B,A,D,C

010. Function of machine metal detector is based on

(1)  Electromagnet (2) Electricity
(3) Magnetism (4) Heat
Space for Rough Work
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011. BRI TFReR, IT R0 TP R, ATOTH?
(1) 0dB (2) 5dB

(3) 10dB (4) 60 dB

012. TOTTPEFS 3e0TFE HORPED BETE WRITTN IINTZNTY, 0dn seonyd HFeY
WOTWTT FFOTT BT 306 WRTWEOMITT.

(1) &edodo (2) Veed
(3) 23 (u9) (4) ™I

013.  TPREERACHRIT BTN LTI TeamesS MoSdSR0.

(1) (2) 3) 4

014. 3INT RWeFTHTA, 0INIT IWREITOMIZE A T3 B 1 FowoHRT 0N

TOIRF O, MOTOERD.

P+ ——> P
(1) A=2&B=-2 (2) A=38,B=-2
(3) A=2§B=-3 (4) A=38 B=-3

B3 FOITFN TN
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011.  What is the sound level of normal breathing?

(1) 0dB

(3) 10dB

2) 5dB

4) 60dB

012.  Rutherford’s nuclear model of atom. Which of the following particles get bombarded with gold

foil.
(1)  Helium
(3)  Silver

(2) Beta

(4) Gamma

013. Indentify the skeleton of Electronic configuration for potassium.

(1)

014. The given reaction is of formation of ions. Choose correct option for A and B.

P+@%P

() A=28,B=-2

(3) A=2%,B=-3

2) €)

(2) A=3g,B=-2

(4 A=3g,B=-3

(4)

Space for Rough Work
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015.

016.

017.

018.

019.

020.

T, AOFT, [T FIRTANYR, TLFHITY 003,60 BRE BERORT, TNTHNYY BATHT
0STORT AQTTR, ROTOIRO.
(1) xR (2) AZos, ;Bemgodd Rapde

(3) BoBowwTT (4) ReTYdeowm 3oeed

TOETHT JEOTY, AWAIT FI(WITIMY) WINBOY, BTWE, o0 IINTYNTYOD ...
Fo0.

(1) 390300 22 BRIRCIOT ERETR =02 B 590

2) 000 =08 ZReR00T BRETIOWTE [0BY AL T3

3)  RAReRomdo B3 BRTIRCI0T ZRYETIONT =083 AL 530

4)  RRTER00 =073 3edD030T BRETHOT =082 ALsEs® 5T

N e

3083, 9ER0NTY DTYTT FOOSREN IO DINFED WL LD wevvveneeennes
(1) KCl (2) HCI
(3) NaCl (4) MgCl,

L3, BE008 BAROZLRTT

(1)  eRodee 33, (2) BoWReT =533
(3) HERIROT =3y (4) =023,

S5, 00RR BRGNG 305, v, SRR LVTASRENTITT.
(1) NH,OH (2) NaOH

(3) Mg(OH), (4) KOH

BINT Ty8,0300D Y, TOTTFICI WBSRTFBOIR TSR

(1)  ©%300T LS Werdsmmd

(2) Roecoxy ITROIT

(3)  SROTFCL TERROEED

(4)  ovsggedn Eid),ToTBRIO0T TR THTRRIT FEMR TOCIVBRD

B3 FOITFN TN
23 [}
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015.

016.

017.

018.

019.

020.

The Famous Historical Monument is prepared by a mixture of carbon, silicon and phosphorous
mixed in [ron. Identify it.

(1)  Taymahal (2) Statue of Liberty
(3) Kutubminar (4) Golconda Fort

Hard water does not form lather with soap. It is because of the following salt.
(1)  Chloride and sulphate salt of calcium and magnesium

(2)  Chloride and sulphate salt of calcium and sodium

(3)  Chloride and sulphate salt of sodium and magnesium

(4)  Chloride and sulphate salt of magnesium and berillium

The given molecule which does not form electrovalent bond is
(1) KcCl (2) HCl1
(3) NaCl (4) MgCl,

Protein is made up of
(1)  Amino acid (2) Carbonic acid
(3)  Hydrochloric acid (4) Chlorophyll

In Acidity resistant medicines the chemical used is
(1) NH,OH (2) NaOH
(3) Mg(OH), (4) KOH

Identify the reversible change in the following process.
(1) A meteor streaking across the sky

(2)  Melting of wax

(3)  Ripening of mango

(4)  Flow of heat from higher temperature to lower temperature

Space for Rough Work
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021.

022.

023.

024.

025.

026.

TV QVTLTDTTON .o 33 BRO BT evmodeenzogs.
(1) @9 (2) 2oB3pe
(3) dey (4) Roo=dOr

LBAFOD HVOTOTE BoB), LRWO WO Fedd BATO SRS SOIRTINITT 85 WBODE ...

TOORNVOTI YVOERTIBTS.
(1) H (2) o,

2

(3) co, (4) SO,

RS 0dper T CBRE TF Moort Hm0ged?
(1) A (2) B

(3) AB (4) 0
vDlevslovelleveRontontorels NIRRT TROT BT VTIT.
(1) e (2) mydrew
(3) ez (4) Roesx

B, BRFI00T BI TN FNTING 3 0INE o8d SIIINYE FRARE), BTHTT
ATBLCDQ FeOTAWE.

(1) =8yF0 (2) o30TeR0DRT

(3) BreocHBT (4) aex

330D MHEBRAZR ed0d CIRE PORFIE FHINT EHRedT RN AR
B000R LTRCIBENR IR

(1)  Bresor03m (2) ©oggFs, o
(3) %33 (4) ©ozTs

B3 FOITFN TN
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021. For the treatment of cancer the medicinal plant used is
(1)  Adulsa (2) Cinchona
(3) Neem (4) Periwinkle
022. Copper ring get corroded by forming a greenish deposition on it. This change is caused by
gas.
(1) H, 2) 0O,
3) CO, 4) SO,
023.  Which of the following Blood group is known as ‘Universal Donar.’
(H A 2) B
(3) AB 4 O
024. Saliva in mouth contains enzyme.
(1)  Ptyalin (2) Maltose
(3)  Pepsin (4) Mucous
025. Due to ‘Acid Rain’ which of the following metal indirectly absorbed by plants and thus enters
food chain.
(1)  Mercury (2) Uranium
(3)  Thorium (4) Lead
026. Which of the following functional unit of the cell transfers herited traits to next generation.
(1)  Mitochondria (2) Endoplasmic Reticulum
(3) Gene (4) Lysosomes
Space for Rough Work
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027.  BIBOI0 QOB BTN v 00T IZI BRETT.
(1)  Roehdoes (2) sadonees
(3) PP Qo (4) Spdowoer

028. 3INTFNG Fd 03B T3 LONBR) Few [ITE ERBTY FoWO WIET.
m@\e&od, DO3OR3, dgéﬁmao@om, EGDRIEY
(1) mde0nd (2) =o3w=T
(3)  BecsoR03mw (4) =3

029. 3INTRPYNY FPo oI 03RTT?
98, €96002T9, LRROOITI®, CIVNTD
(1) =B (2) Q0w
(3) IROoDHTF (4) odongme

030.  Bo0oLT BTBOYOI FeRVF LVTITED AR ?

(1) =om» 3rg 3378 (2) Roodwg Reg B33
(3) owresd (4) How3es

B3 FOITFN TN
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027.

028.

029.

030.

When in water, frog breathes with
(1)  nose (2) cannal

(3) lungs (4) skin

Which of the following organelles is found only in plant cell?
Golgi complex, chloroplast, mitochondria, vacuole.

(1)  Golgi complex (2) Chloroplast
(3)  Mitochondria (4) Vacuole

Which of the following is Fungus.

Algae, Amoeba, Penicillium, Euglena

(1) Algae (2) Amoeba
(3)  Penicillium (4) Euglena

Identify the scientific instrument shown below.

(1)  Simple microscope (2) Compound microscope
(3)  Telescope (4) Periscope
Space for Rough Work
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031.

032.

033.

034.

03s.

036.

QTPEINS T, ROTINT v TR, 20T,

(1)  10pm 50z 100 um (2) 1 0% 10 pum

(3) 200 pm (4) 10 nm ©0z 100 nm
ESITODD TDETIEY) «vvvveevvnnrervnnneeinnnnnnns 2O T BRYNYOT YVOLTMITT.
(1) 8w (2) sRE

(3) BTV (4) @ -1

FINTRYNIQOD e3eT By MOTOERO.

PRBOT, BP0, WY, mow:ﬁ%eés

(1) 3oz (2) =Bomeaw

(3) womo (4) WO AREE

R0OTRNTYED wodpery DEITHI) TOTERD.

(1)  SHeeemorodngy ATP 83 38 AR T Fo0I0TRRI, BOIRORIRD.

(2) ©=m3NnL 3033 TTIRTEAT LIBBT), AOI0EET VORI

(3) ©RRFOTINPT T, TERRVT LY, TTNITS.

(4) HoBoBR PoDFIFORR) Bredr YT TomPCINT TFO0EY, TRTOZT BRBI.

B0oOTRNYE, 582 03008 TFRR), BLOTEROINE TFem0dod CIRFTO?
(1) RPPT Seedsd (2) PPYR Qe
(3)  ovgs SRTRS (4) ©PRTTIS

00RO ToEIIT @@doét 3e3 QeRTan SR0or CdRE BOTOT FFOD TR Wi
BN BRTC3TT?

(1)  =eBos, D63 0.0 FBTFT (2) Rz wiredoes P
(3) desmng gos (4) abm:%@mo@

B3 FOITFN TN
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031. Size of virus is approximately

(1) 10 pm to 100 um (2) 1tol10pm

(3) 200 um (4) 10nm to 100 nm
032. ‘Elephantiasis’ is caused due to female of mosquito.

(1)  Anopheles (2) Culex

(3)  Aedes aegypti (4) Den-1
033. Find odd word out of given below.

Earthquake, Tsunami, Drought, Bomb-blast

(1)  Earthquake (2) Tsunami

(3)  Drought (4) Bomb-blast
034. Find out false statement from given below.

(1)  Mitochondria prepares energy rich ‘ATP’ compound

(2)  Vacuoles regulates osmotic pressure of the cell

(3)  Various colours of flowers and fruits are due to leucoplasts

(4)  Chloroplast absorbs solar energy and converts it into chemical energy
035.  Which of the following blood vessel carries oxygenated blood.

(1)  Pulmonary vein (2) Pulmonary Arteri

(3)  Superior vena cava (4) Inferior vena cava
036. Whose information we get at Manibhawan in Mumbai?

(1)  Swatantryaveer Sawarkar (2) Mahatma Jyotirao Phule

(3)  Lokmanya Tilak (4) Mahatma Gandhi

Space for Rough Work
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037.  So000T BN c3Rer) 30T TOIRF O WICAD.
1) T, BT WeUT BOTYRT), B30 TOOWCIY ANEATIT..
)  2RO0DTT LN TTYFIOE
)  =xTET BTV DT
IV) D903 Refodd wosnegamn Aoow; BFT AF.
(1) ILLILIV (2) LI 1V, 1
(3)  IL LIV, 1 (4) L1V,

038. $.3. 18583 5203N=070TmoN ST wdmﬁ%ﬁ@?m‘%é@ﬁ 3RBERNT BT TT VTR
TOZRE O MOTIER WTCAD.

(1) 353, 0003 30TI0 BTEBIR) VRFBRRBOW.

(2)  FF00HT WHLEN NFTFOT RWITS TS VB ED BIRBEROW.

(3) T8 B008 20w BHIT BONET ATTHTTY, VI D TWRBLICATD.
(4) NFPFo° BITS WBUN FYTTIONT BTG VR D BRBUDCUED.

039.  To&e0d FIod ToNFROBY, BINT wHHBITY, ... QWD TOORIT WIABTITD
Re2=or Sng 3 SesesD.
(1) oo ORTISTIORN (2) ToRT WIITTLR® IHTD
(3) wSTonz A (4) [Bredno I

040, RTOIRY PTBT WoeS STEVED WRARTT I00SC0IT ABFIORE THBOT0 c%%o&bod 3,63,
2OT LRTITE), ABRTY FRGATT?

(1) o8 7 Bure (2) 0 BRBRE,
(3) OBF WIFIDTE® (4) oBEr OOTRR

B3 FOITFN TN
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037.

038.

039.

040.

Find out the correct option as per the chronology of events.

(D Prince of Wales, welcomed by organizing Hartal

(I)  Jallianwala Baug Massacre

(III)  Supension of Non-cooperation movement

(IV) The Swaraj party was established by Indian National Congress
(H ILLILIV 2) HULILIV,I

3) ILILIV,I 4 LILIV,1I

Changes made by the Government of India Act 1858 are given below. Find out the wrong
statement related to it.

(1) It ended the Rule of British East India Company
(2)  The Voiceroy of India was now designated as The Governer General
(3) A new post of secretary of state was created.

(4)  The Governer General was now designated as The Voiceroy of India.

The resolution of Non-cooperation movement put forth by was accepted in The

Indian National Congress session held at Nagpur.
(1)  Lala Lajpat Rai (2) Pandit Jawaharlal Nehru

(3)  Chittaranjan Das (4) Motilal Nehru

Who sent Sir Stafford Cripps to India to get Co-operation from the Indians, if Japan attacks

India.

(1)  Winston Churchill (2) Ramsaye Macdonnald
(3)  Lord Burkonhead (4) Lord Linalithigo
Space for Rough Work
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041. 1773 T Sryeedon’ &3 TFOT WOMOT. NHTFT® LIV 0530 BRTT, FeICDB?

(1) us By, (2) oBF BIFOF
(3) oRBEF 0 Ieaen, (4) on@EF TP

042.  3Z30Y BR0AT B FNTRNTYOD 03 FLHN FoLIOHATRT?

(1) RPN, 0T LPOTZTO T, TOWITIT.

(2)  Roowocd BTV 3083 BeoT LRNNYY LVERNTISNER) STORITT.
(3) RBodhIRNTT ST SPRTD.

(4)  NT3 50733 BoPLROR, MRATTO.

043. ‘=339, BeBP3oDR, RRFR BB WFE TYNS LPRBIONY RBEDRT AT
FINTRNTYORD 03B TRRRT 08, NVTIEBTNSI?

(1) ¢T3 oS3 IR0 (2) FFI AR
(3) 303 IR (4) =ZBReEs I=ww

044. ‘FpemdTFodecd 0F B3 BRIBZF0E 0IRTY HToRATTL?
(1) Reengwotmd Iwonsd (2) BBar QB T BT
(3) HBeO0IRT ToTE FOTT (4) ST TP TooWS

B3 FOITFN TN
23 [}

NMMS-SAT-21-22 [ VIII[ S8 |




L sond s

%
xR

041. According to Regulating Act of 1773 who was appointed as The Governor General of Bengal. %
)
(1)  Lord Wellessly (2) Lord Cornwallis )

(3)  Lord Warren Hastings (4) Lord Curzon

042. Observe the Reformer in the picture and choose the event which is related to the respective
reformer

S O S OIS O S S

b SOn L9 DO L0 L sOn L sOn T SOh L SO Lo L9 L0 L0 L s

R AR A AN AR A AN AR A R
PPN %P 0092, 690, 92,0

(1)  Started Aanath Balikashram at Pune
(2)  Foundation of work schools at Parel Devenar in Mumbai
(3)  Leadership accepted of Mulashi Satyagrah

(4)  Foundation of Mill workers organization

043. Identify the society which had objective of creating love for country. Teach them sacrifice of

self interest.
(1)  Servants of India Society (2) Prarthana Samaj (Society)
(3)  Aarya Samaj (Society) (4) Satya Shodhak Samaj

044. Who started the magazine called ‘Somavanshi Mitra.’

(1)  Gopalbaba Valangkar (2) Maharshi Vitthal Ramji Shinde
(3)  Perriyar Rama Swamy Naykar (4) Shivram Janba Kamble
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045. dwowowwadg%fMOc% 200308 mmmo—-;gﬁ dmd@{ ...................... QWTY T002

ROTINTTOFCIE), TWIORATT.
(1) esesods 3 (2) Ree®e womes
(3) 3ozoTem TeR (4) % .0x7. ¥red

046, S TOTITOWID VNG T3NS TT0DTOTD TBITH0S a’>25§7ﬁe§§% @oj% aﬁ:az%zgda Clnte[dlove
3@55 22ReB03) TO3IE O3 MITISO.

(1) 2% F Toows - TOTWT &3

(2) Rrede3s BorSowss - T03RQEIT

(3) TPUBT - PTTHEON TR0 HTHO
(4) ToeTTIRB BRe&HS - UITYE ATIRCWE

047. ST DBY TR S0TS VEBT OIR BRPBT ITI,0530?
(1) 303 3% (2) =gBReEs =

(3) TP AB (4) wWwER IRWR

048. CIOTREAT ToNTTD LTI IBNN TRCMI &:@dmﬁrd@{ BReQROT TOowON O3NT
3IBRTIT, ARVT, BODFLIFMOA BRTEITI?

(1) 15 ¢ 33303 (2) 16 B¢ 33303
(3) 17 ¢ 33303 (4) 18 Ze 33Rn3

B3 FOITFN TN
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045.

046.

047.

048.

Who put forth the proposal of Samyukta Maharashtra with Mumbai in the Mumbai Municipal

Corporation?
(1)  Aacharya Atre (2) Senapati Bapat
(3)  Shankar Rao Dev (4) S.M. Joshi

Shivaji Maharaj appointed the Council and the Heads of various department on the basis of

their merits and achievements.

Identify the option of wrong pair out of it.

(1)  Bahirji Naik — Head of the intelligence department

(2)  Moreshwar Panditrao — Dispensing justice

(3)  Daulat Khan — The Chief Naval Commander

(4)  Hambirrao Mohite ~ — Sarnobat of the cavalary

Identify the name of the society where Maharshi Vitthal Ramji Shinde served as a member?
(1)  Aarya Samaj (2) Satya Shodhak Samaj

(3)  Prarthana Samaj (4) Bramho Samaj

Identify the period of Century when the European sailors went on expedition to discover sea

route to India?

(1) 15" Century (2) 16™ Century
(3) 17" Century (4) 18" Century
Space for Rough Work
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049.

050.

0s1.

052.

053.

PZRS H303 WTTRT W0edd 18690E, 03T CRTESCIRI, TWATTO?
(1) <pcs=ng 803 (2) DReoTTF RS

(3) mm%zﬁ@seémd S (4) 2T Bo0E0 4TS

2TeIed TRoDT FFT WOR0T Trekd, w3, TR wWwoTed momddd@t 03T
WTITD ATTOT 0330309

(1) SoRgoes Beewss (2) =BReee grexd

(3) = TFRR (4) Romcke d0

CRBW  ATHT BJHENY, ToATON BT TOIRFONMLL  FedwoN  TWOITT  Roed
©BO0LRTORO?

(1) =omaecd (2) weggeod

(3) ASETT (4) A8 sEoe

TOILIOD 63 ATHT R0 00D, ATR,TO Q0T 3T ToBNO0T Tonwe Feotmn,BIZ
BTeBNOT S0I0IRMOTT.

(1) 250 (2) 12

(3) 288 (4) 238

POTBTY 29 FE3T TORNVTTR OGS AYNY B0, v 3B3.

(1) 29 (2) 30

(3) 31 (4) 32

B3 FOITFN TN
23 [}

NMMS-SAT-21-22 [ VIII[ S8 |




049. Who composed a Powada in 1869 CE on Shivaji Maharaj?
(1)  Lokmanya Tilak (2) Ravindra Nath Tagore
(3)  Mahatma Jyotirao Phule (4) Pitamah Subramanyam Bharati
050. Who subdued the Rohillas, the Jat’s, the Bundellas with the help of his trained army?
(1)  Malharrao Holkar (2) Parsoji Bhosale
(3)  Nana Fadanavis (4) Mahadji Shinde
051. In which form of government the legislature and executive are not directly dependent on each
other?
(1)  Parliamentary (2) Presidential
(3)  Socialism (4) Military Rule
052. members are elected from the constituent states and union territories among the
total membership of Rajya Sabha.
(1) 250 2) 12
(3) 288 (4) 238
053. Though India has 29 constituents states, the total numbers of Vidhan Sabha (Legislative
Assembly) in India are
(1 29 () 30
3) 31 4) 32
Space for Rough Work
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054.

05sS.

056.

057.

058.

BLR), WOIN 502 TOBOW)T, wddé\%mﬁ TR, TR B3 JFOT @amcjr\’%ﬁs& o303
emo:’b@oda S0R0T WRBOIRNITT?

(1)  FP=w0 (2) omed
(3)  mors (4) 338

ud&;émﬁﬁ 0590) O3RR)TROTI) %@wggmmw BO0IN QEBLRNMI T9,03RO0NT S

(1) =IBNTe3 (2) 53 ;-é)zs%

(3) BBWOTTY (4) woQe TEBessed
298 TTWODT TS ..o 2.

(1) 2.90 mzH/mA00e (2) 3.3 mI/PIR0e
(3) 5.7 mywo/mE0e (4) 9.8 Mo /PAe

O3T2E WRETNFL T,e20a0T0N F0B0TICIOTINTIZER ?

(1) 203 (2) RTRZEA
(3) ATREIVOF (4) Shto ey
STT 2eeR MoTIER0.

A)  UF ROTOPR BTEB - 0wl

B) gm I3 - QY

C) TOOYWRLO JTeS - TOTRTO

D)  t300m, BT - B3 300

(1) A (2)

3) ¢ (4) D

B3 FOITFN TN
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054.

05sS.

056.

057.

0s8.

Which law is dealt with the crimes like theft, robbery, dowry, murder etc.?
(1)  Criminal (2) Civil
(3)  Worker (4) Military

The order of the courts commanding the government to perform an action that is it’s duty to
perform in public interest is called

(1)  Mandamus (2) Quo-warranto

(3)  Prohibition (4) Habeas Corpus

The density of the lower mantle is about
(1) 290gm/cm? (2) 3.3 gm/cm’
3) 5.7gm/cm’ (4) 9.8 gm/cm’

clouds are mainly wispy.

(1)  Cirrus (2) Cirro - stratus
(3)  Cirro - cumulus (4) Alto - stratus
Identify the wrong pair.

A)  Hot Desert Region - Camel
B)  Taiga Region - Elks

C)  Grasslands - Kangaroos

D) Tundra Region - Tse-tse Fly
H A (2) B
3 C (4) D
Space for Rough Work

NMMS-SAT-21-22 [ VIII[ S8 |




059.  WMST ceevvniiiineeinnenns TV DPNNTTI, BRBEONGS.

(2) 15
(4) 4

060. TOTITONTNAY RTORO 5% TOTINTO @d% Q3T VY

(1) 3600
(3) 3700

(2) 8848
(4) 11034

061. oﬁfaerjs BEReBNRY TOSRE 03 ROTOERD.

9 - TWYO TITO 2 - T WeTd ¢
1) R A) SO TRFIT APWONI0ES
2) aSien) B) QUZT LOTITI WO T3S
3) ¥3RT C) ATOTD ToN 30T TWOTILIRC0TI
4) AT D) To3¢ WIFBTI T[PIE VVLIDOVOT
(1) 1-B, 2-A, 3-D, 4-C (2) 1-A, 2-B, 3-C, 4-D
(3) 1-D, 2-A, 3-D, 4-C (4) 1-B, 2-C, 3-A, 4-D
062. C3weN WomRd %Qﬁo&aod 53?323 ézabw TRT QTOTIRE ST BT WO wevvennnnnnnnnn. 28
QTOTT.
(1) wozde (2) wmye

(3) Bomnme

(4) ReoDFNzH

B3 FOITFN TN
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059. The world has been divided into time zones.
(1) 24 2) 15
3) 60 4 4
060. The average depth of the ocean is around meters.
(1) 3600 (2) 8848
(3) 3700 (4) 11034

061. Identify the option of correct pairs.

A - Name of the wind

B - Areas of influence

)
2)
3)

4)

Loo

Bora

Chinook

Simoom

A)
B)
0

D)

From the Alps mountain
Blows in the North Indian plains
From the Sahara and Arabian desert

From the slopes of Rocky mountain

(1)
3)

1-B,2-A,3-D, 4-C

1-D, 2-A,3-D, 4-C

(2) 1-A,2-B,3-C, 4-D

4 1-B,2-C, 3-A, 4-D

062. When moon is at the farthest, the position from earth is called

(1)
3)

Perigee

Lunar Eclipse

(2) Apogee

(4) Solar Eclipse

Space for Rough Work
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063.

064.

065.

066.

067.

HR0D $60T TFBYABRTY evvvveveens 00T rrvvrene 3R SRR BIT.

(1) 2200° 2. - 2500° Z. (2) 2500° 2. - 5000° Z.
(3)  5500° 2. - 6000° % (4) 2000° 2. - 2200° Z.
SR FROD QTIFED BTN v Bets TRFNS PP T BO.
(1) 560 (2) 260

(3) 360 (4) 460

FHO0> 20BTRBYD BT RBRFF S GUFTRHT BN ), 4. B, 2T
(1) 2500 (2) 6000
(3) 5000 (4) 2870

3SNI @%@@Q‘A’ ©TTROT ZRCOTLRT FNTBYTUEZD Pr&TTE FITO NOTIE0.
AD

(1) =n3dz no® (2) =TT o
(3) =ond Qs (4) ProzE oo
POTERE, T TOT GACWOT v QT BRTE To% NG,

(1) ov3d B3e3 (2) da@m%

(3) =g B3e3 (4) oo

B3 FOITFN TN
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063. At the centre of the earth, the temperature is around

(1)  2200°C to 2500°C (2) 2500°C to 5000°C

(3)  5500°C to 6000°C (4) 2000°C to 2200°C
064. Our earth was formed approximately billion years ago.

(1) 560 (2) 260

(3) 360 (4) 460
065. The temperature of the liquid outer core is around °C.

(1) 2500 (2) 6000

(3) 5000 4) 2870
066. Name the landform shown with letter ‘A’ in the given figure.

AD

(1)  Marine Trenches (2) Abyssal Plains

(3) Marine Island (4) Continental Shelf
067. Area wise is the large state in India.

(1)  Uttar Pradesh (2) Maharashtra

(3) Madhya Pradesh (4) Rajasthan

Space for Rough Work
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i e CiNe e e T\ e i\ i\ e i\ e /e T\ e i\ e

KRR AR BK AR AR BN TR AR I BR AR AR AN

£%6921909%:109%1%6 9219692196 9%,90 92692196 9213692136920 92,8 9208
REARCARCARCARCARBRBR AR AR AR AR ARERE

>4

068. 0T, Tozg; G003 weE 2010-2011 T ©FIcDYD D 83 Fodeoos 0 FeZWR),
3Re0RIBT?

069. VRN ATRLT VT LOBNE TN B TIPTYEIL DT, WRTBI) DWOF BIELEB?

(1) 3% (2) 2%
(3) 1% (4) 4%
070. 2,08 AW (B DO .vevnnienn PI0eWT T B0 BOF) VTOIH.
(1) 9.8 Mo (2) 5§
(3)  10° (4) 33

071. %03 ?,356 JANTS T, 0By @Qgﬁé@é TRT, 2369 FPFFoF 08 F083, YRNTYOD BT HR?

(1) 0 (2) 1
(3) 2 (4) 8

B3 FOITFN TN
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068. In the figure of Maharashtra state land use 2010-11. Which one is indicated by letter ‘D’.

(1)  Fallow land (2) Non agriculture land

(3)  Area under forest (4) Area under crops

069. Under Corporate Social Responsibility industries are expected to spend atleast

their profits on acts benefitting the society.

() 3% 2 2%
3) 1% 4) 4%
070.  Sverdrup unit is equivalent to million cu.m/seconds discharge.
(1) 9.8gm 2) 5’
3) 10° 4) 3°

of

071.  Find the difference between smallest natural number and biggest negative Integer?

(I 0 2 1
3 2 4 8
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072.

073.

074.

075.

24389 T TR 2
(1) 19 (2) 29
(3) 39 (4) 49

10,000 Spwmoc 3OS B BJe F05y) TOOT 2 RS BR[O ITY WAL FTI
81 SRITOW BT, TMWTT WHET ) ?

(1) %T8% (2) T7%

(3) 9% (4) T10%

x+9)(x-7)= o=,?
(1) x*+16x-63 (2) x*+2x-63
(3) x*-2x-16 (4) x*-2x—-63

WP0T ABCD 0309 330F ¢ 22080908 SIR&T. ‘0’ §e0T, 00 S30F 98 &2 14 Faoe 9.
TOMTT Te00088 GRNT EEBFO OR),?
A

B
%A /P
D C
(1) 164 PBa0¢ (2) 168 RB0e
(3) 172 uPBa0e (4) 184 2RB0c

B3 FOITFN TN
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072.  What is cube root of 24389?
1 19 2) 29
3) 39 4) 49
073.  For a principal ¥ 10,000 the difference between Compound Interest and Simple Interest for 2
years is X 81 Find the rate of interest?
() 8% 2) 7%
3) 9% 4) T 10%
074. (x+9)(x-7)=7?
(1) x*+16x-63 (2) x*+2x-63
3) x*-2x-16 4) x?-2x-063
075. A circle with centre O having radius 14 cm is inscribed in a square ABCD. Find the area of
shaded portion.
A B
/ 14 cm.
%: |
D C
(1) 164 sq.cm (2) 168sq.cm
3) 172 sq.cm (4) 184 sq.cm
Space for Rough Work
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076.

077.

078.

079.

40 BROMITTL 2,08 FOF 18 OITE FPedF RWRTITTO TMwET ©TSe $ewF 36 BROMITTO
AT, DFATE TP WREIFTO?

(1) 20 (2) 21

(3) 24 (4) 26

A@I902T 23023 1PEREITE F0z3008 BREING 93N (4x —20)° 33032 (100 —x)° 2&S Torwsd
x 033 @x% 9

(1) 5 (2) 10

(3) 15 (4) 24

2.2), YONRTT WOQZ B BoedS 15% Fpdd (DBROE) B, 2,080 vededd 1020
SRTOWR BIROTT 230 BOEE S SR, ?

(1) 1500 3» (2) 1300 Br

(3) 1200 3n (4) 1100 3w

2,000 HBed 20T GBRERT AT WM [ BRNVOT ATNOIR, BNTOT FRees QT
DTBEHCD GBRETT TR Bone 1% [oBY WRNYOT IBRNH, ERS VRN DFCRTTT
3 BREINE o3RI aéeﬁmﬁ LITOROR DTTRT VITH ?

(1) 3Bee -0 -3ne (2) o -3re -0

(3)  3me - gne - b (4) - -9

B3 FOITFN TN
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076.

077.

078.

079.

If 40 labourers can complete one work in 18 days then 36 labourers can complete the same

work in how many days?
(1) 20 2) 21

3) 24 4) 26

If opposite angles of a parallelogram are (4x —20)° and (100 — x)° then find the value of x?
(1 5 2) 10

(3) 15 4) 24

One shopkeeper after giving a discount of 15% sold one saree to customer for ¥ 1020. Find

the marked price of saree?
(1) R 1500 (2) R 1300

(3) T 1200 4) T 1100

If two sides and angle included by those two sides of one triangle is congruent to corresponding

two sides and angle included of other triangle.

Then those two triangles are congruent by which test of congruency?

() A-S-A 2) S-A-S
3 A-A-S 4 S-S-S
Space for Rough Work

NMMS-SAT-21-22 [ VIII[ S8 |




Nn® Osivw ‘Crine i Cinw CiNe /e Ciw /e /e e e

KRR AR BK AR AR BN TR AR I BR AR AR AN

£%6921909%:109%1%6 9219692196 9%,90 92692196 9213692136920 92,8 9208
REARCARCARCARCARBRBR AR AR AR AR ARERE
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080.

081.

082.

083.

084.

IINTRNTY, T00e03d Fogd, OIRR)TO ?

(1) = (2) 3.142857

(3) V4 4) V7

4 206838 VT, 3 Q0683 WAL TR 1.5 Q0¢e3T HFT QT Q0T £33 (T BLIET WWIY,
@%—-’%@e@sd QeTY HLBRORTY ?
(1) 1800 (2) 18000

(3) 1500 (4) 15000

(> + 17x +70) + (x + 10) = & ?
(1) x+12) (2) (x+7)

(3) (x+14) (4) (x+17)

TORITITR T TRE HWRTEN 2,070 T30 600000 TRTICONDT DOCOITI). LoD =8
SRET BT BRBBe 10% 2GT & 50T QoS B R, ?
(1) 437400 Sm (2) 438400 S

(3) 437500 Sn (4) 438490 T

2,003 FIBEM 6 YFNO (F) 23023 12 90230 (E) 08 TomomB & g 3t R) 3T eeosoned
(V) QT3S ?

(1) 10 (2) 6

(3) 8 (4) 14

B3 FOITFN TN
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080.  Which is the irrational number from the following?
n 2 2) 3.142857
3) V4 @ V7
081. Water tank of length 4m, breadth 3m and height 1.5 meter is constructed. How much litre
water the tank can hold?
(1) 1800 (2) 18000
(3) 1500 (4) 15000
082. (x2+17x+70)+(x+10)="?
(H (x+12) 2) x+7)
3 (x+14) 4 x+17)
083. 3 years back Ramrao purchased a car for ¥ 600000. If its rate of depreciation is 10 % per year.
Find the present value of a car.
(1) 437400 (2) 438400
(3) 437500 (4) 438490
084. A cube is having 6 faces (F) and 12 Edges (E). Find the number of vertices (V) of the cube?
() 10 2) 6
3 8 4) 14
Space for Rough Work

NMMS-SAT-21-22 [ VIII[ S8 |




N Cine ‘Cine i e

i i \e CiNw T\ e i\ e e O/

N Ol ® Ol e

KRR AR BK AR AR BN TR AR I BR AR AR AN

£%6921909%:109%1%6 9219692196 9%,90 92692196 9213692136920 92,8 9208
REARCARCARCARCARBRBR AR AR AR AR ARERE

085. 10 B¢ ot AR IRTT FBHO SR, ?

(1) 503 PB0e (2) 1042 @PI20¢

(3)  25/2 PRoe (4) 253 @PIR0e

086. m’+ 27 T ©@030wned ITNTYNTE) 0IRR)T ?
(1) (m+3)(m>*+3m+9) (2) (m+3)(m>+6m+9)

(3)  (m+3)(m>-3m+9) (4) (m+3)(m>—6m+9)

087. 20T 333 DSTH FRERFTE, 200308 LfiXi = 1740 3033 N = 25 2538 X & ?

(1)  59.5 (2) 69.6
(3) 174 (4) 785
088. x*'—2x—35  x*-2x+15 _
= AR ?
P—dx—21  x—25 DR
(1) 1 (2) x+5
(x+3)
(3) x-3 (4) (x—7)
089. wzgmmgax:@a&?
(1) 27 (2) 4
(3) 3 (4) 9

B3 FOITFN TN
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085. Find the area of an equilateral triangle having side 10 cm.
(1) 5043 sq.cm (2) 1042 sq.cm
3) 25 V2 sq.cm 4) 25 J3 sq.cm
086.  What are the factors of m* +27?
() @M+3)(mM*+3m+9) 2) (M+3)(m*+6m+9)
3 @M+3)(mM*-3m+9) 4) (m+3)(m>*-—6m+9)
087. In a frequency distribution table if X fi Xi = 1740 and N = 25. Find X = ?
(1) 595 (2) 69.6
3 174 4) 785
088.  x2—2x—35 x*—2x+15 _,
x*—4x—21 x*=25 '
(H 1 2) x+5
(x+3)
(3 -3 @
089. 5x9+7 —3 then x =2
(H 27 2) 4
3 3 “ 9
Space for Rough Work
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B w e e /e /e i\ e i\ e

vy ‘Cine ‘oinw O/

189212892196 92196 9219692120926 9212692136213 9210 9218 %)%

AR AR R BRI BK K AR AN AR AN %o

RRCARCAR AR AR AR AR AR ARCARBR AR AR S

RO
LIXP
KON

090.  #97 g0t FR%WE0T imedom PQRST o> £63

PTIT 0% = 60 QeE3T

ARST @ 3e9¢ 61 00833

(1) 3600 e e
(3) 3660 P e

S0 a2
"ot ©
2
S| 1
< 0T
8
Tl H [IR
6/
Meg: S
(2) 360 2 e

(4) 3930 P Qe

B3 FOITFN TN
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090. From the information given below find the area of plot PQRST?

Side of square = 60 metre

Hypotenuse of ARST = 61 metre
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(1) 3600sq.m (2) 360sq.m
(3) 3660sq.m (4) 3930sq.m
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